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Chizas FortranDi5&

Int n; c23456

double a; integer n
real*8 a

scanf("'%d %I1f",&n,&a);
read(*,*) n,a
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cCHEa FortranMi&&

_ _ c23456

Iint 1,n; integer i,n

double a,sum; real*8 a,sum

read(*,*) n

scanf("'%d",&n); sum=0

sum=0; do 10 1=1,n
_ ] ] read(*,*) a

fOI"(I:O; 1I<n, |++) { sum = sum+a

scanf(""%lf"",&a);
sum = sum+a;

}

10 continue
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CHES FortranDiZ&
Cc23456
int 1,n; integer 1i,n
double a,amat[100]; real*8 a,amat(100)
read(*,*) n
scanf('%d",&n); sum=0
do 10 1=1,n
read(*,*) a

for(1=0; i1<n; 1++ ) {
scanf("'%lf",&a);
amat[i1] = a;

}

amat(i1)=a
10 continue
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